Week 25

N

10.

11.
12.

13.

14.

15.

® N o o & o

. Write the numeral. 1. Write the numeral.
.Angle A = 2.64 + =8

5° A 3. Luke earns €125 per day. How much
does Luke earn in 5 doy

3 4. Round 9384 (ne \ usand).
2 of 12 =
99,998 + 7 =
5.100 -
6x0.7=
6cm, so the radius is
.35505-9 =
1% = 0. 0»
.3)67.2 = P10
0 . Write | | ing order.
. Simplify 1.
, 1.05 1.5
How many lines
of symmetry? @ ,
& = 0. , Qe place value of the 8 in 24.85 is:
Perimeter = (o) tenths. (b) hundredths.
10. 50% of =9
y 11.5 of 9 =
4cm g
S The pie chart shows pets owned by Sth
Class pupils.
5cm
This book was €10, &

now it costs W
€

12. 5 pupils own dogs. How many own cats?
What 2-D shape would you

see in the cross-section?

13. How many own fish?

17x25x 4 = 14. How many own dogs and fish?

15. How many pets altogether?
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5. What is the diaometer of a

1. The value of the abacus is . 1. The value of the abacus is . E
(¢0)
M
=
N
(¥,

2. Simplify . 2. Time? (24-hour)

3.99.999 + 5 = 12710 ®

4. 50% of =50

3. How many degre

is

) . S this angle likel Q

circle, if the radius is 3.5cm? cm A\
(@) 90° Cc)™35°

8. Colour 1800mL.

9.10,000 - 350 - 450 =

6.20 = 40 (b)\\ (d) 45°
7.3% = 0. m
| W
.2 t12=
7. Rou@ the nearest 1000.

@ 93 True False

=10

10.6)70.2 = %%O Write the numeral four hundred and

forty thousand and four.

11.15 =

12. Which t of Trlongle is this?

) 11. Parallelogram = lines of symmetry
cele (c) equilateral

o H

12.12.93 + 25.24 =

13.12% =
13.(8 x5)+ 8 = 14. Diameter is 8cm, so the radius is
14. The book was €80, cm.
now it costs 15. 50% of 5
€

15. Round 338,960 (nearest thousand).
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Problem-solving Friday Review

Monday 0 The value of the @ <

Fruit Tree Park abacus is True False
H 8 : : : . Key

Week 25
.O

= apple t
Q@ e g The clock hand
= pear tree
= lawn rotates °
= paving
e [EN = swing from 9 to 1.
1om A =gimong - €9 Time? (24-hour) 1
Scale I:llOm
1. What is the perimeter of
the paving? 12.05 @ ¢

m \
2. What is the area of the swings and e > 11,18, Zf & 24.06 +15.28
. . 4

climbing towers? m?

° Slmpllfy\\
e 3,3 @ Draw the 2 lines
Tuesday of symmetry.
1. If there are 12 apple trees for each OY* 8 =
0% of

100m?, how many apple trees are in
the park? S

€50.00 )
@ Half of 70

:5)(

iCh earns €155 @
ay. How much 10x0.7 =

2. A lownmowing contractor S
€2 per 10m?. How much will i

to cut all the grassed argg? ¢

es Jessica earn

o D
in 5 days?
QO € (e[
1. Whatist rage shoe size?
6, 8 @ The difference v&

between 2
numbers is 2. Their )
product is 80. The @ 6 pupils own
own hamsters?
Thursday and
1. }r/r\thch vlvelgh‘r will balance @ 4% 2 0.
e scales? How many
(a) 1kg ©) l%kg @ 92 = pets altogether?
(b) 1akg
kol 5ka
+ka|7kg
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‘ Maths Talk

& Vocabulary

VB VBV E
Make multiplying a number o)
by 11 easier by multiplying the ~ ~ ~ ()
number by 10, then adding A
the number to the answer. 1. The ratio of pears to apples is G
Work and discuss with a partner. . .
2. The ratio of apples to pears is
11x5=55 = (10x5)+(1x5)
1. Solve:
3. The ratio of pears to t @ uit is
(@11x18=(10x18)+(1x18) = Q
: *
b)11x 15 = +
(b) 11 x ( x )+ ( x ) 4 The ratio @ total fruit is
-
(©) 11x22=( X ) +( x )
) \\ ord Cloud
words and phrases from Week 25.
(d) 11x 37 =( x ) +( X )
2. Create several of your own 11 x | @
(2-digit numbers) and record on
large card along with the ch
number sentences.
After you have completed ﬂ?s are,
compare, and discuss nswers
with others. . %
|
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